B FEKkE

FiE)—5
AN =} HETTC A|HEBKCL. B|rclzssrrss—|nasszc—vrzn 8| F5 | BE | EAL
$EBETTC A 3—0 3—0 3—0 6 1
fiERkCL. B 0—3 3—2 3—0 5 2
MNOLESHKFHTI— 0—3 2—3 3—1 4 3
nESRA—vLEH B 0—3 0—3 1—3 3 4
HEIE 1—4 2—-3, 1—-3 2—4 , 1—2 3—4
BN -} SEBRCL. A|MIBZ=IESAE| FEBFTTC B |nasszr—vssm a| B | BE | IBA
e IkCL. A 3—1 3—0 3—0 6 1
MGEIEXSAE 1—3 3—0 3—0 5 2
H$EFETTC B 0—3 0—3 3—2 4 3
MESKIR—YLER A 0—3 0_3 2_3 3 4
HEIE 1—4 2—-3, 1—-3 2—4 , 1—2 3—4
B REAEGRE)—5 (FBEFEREHLML)
FBTTC A|FEIRCL. AlMB=ESAE|SREIRCL. B| B4 | BE | B
AT 3—1 3—-0 3—-0 6 1
HEEBTTC A
B1{i W./0O
o 1—3 3—1 5 2
FEIRKCL. A W
B2{i1
. 0—3 1—3 3—1 4 3
M ESAME
A2{i1 WO
- . 0—3 1—3 2 4
FiEIkCL. B L
HEIE 1—4 2-—-3, 1—3 2—4 1—2 3—4




T HIRE

F&)—
Aly—4 WITEIE |messxc—vrzm o EBTTC B| B85 | BE | IELL
WITEE 3—-0 3—0 4 1
MBS R—YLER B 0—3 0—3 2 3
F$£ETTC B 0—3 3—-0 3 2
HEIE 2—3 1—3 1—2
B—4 | RBETTC A| BEH5T |FHEC2=7| B85 | BE | B
FEFETTC A 3—0 3—0 4 1
BtER 57 0—3 0—3 2 3
ERES1ZT 0—3 3—0 3 2
HENE 2—3 1—3 1—2
CY—4 |HAEBL1=7|nmssat—vssm A|SPIN WORKS| B85 | = | B
HKEBS1=7 3—1 2—3 3 2
MBSRAR—YDEE A 1—3 0—3 2 3
SPIN WORKS 3—2 3—0 4 1
HEIE 2—3 1—3 1—2
ZFERE R —5
WITEE |[JNEBFTTC A|SPIN WORKS| B4 | B=E | IBAL
ATt 3—1 3—0 4 1
WATTEE
Bt 1—3 3—1 3 2
FETTC A
C1fi
0—3 1—3 2 3
SPIN WORKS
HENE 2—3 1-3 1—2




